Miércoles, 13 de mayo

19)
sen 60°= i
50
h=50-sen 60°=43"3013m
50 h | La cometa estd a 4373013 m.
60°
28a)

h
18
h=18 -sen 65°=16"3135cm

sen 65°=

cos65°= %; x=18-c0s65°=76071cm

23—x=153929cm
T.P.— a’ =16"3135° +153929°

a= \/]6’3]352 +1573929% = 22°4293cn|

23 cm

Solucién: h=16"3135cm y
a=22"4293 cm

28b)

50° X y

A+50°+90°=180°% A=40°

sen 50°= i
17

h=17-sen 50°=130228cm

cos 50°= ]—x7; x=17-c0850°=109274cm

~ h 130228 A 130228
sen B=—= — B =arcsen =
29 29
=266835°

cos 266835°= Z—yg; y=29-cos 266835°=259115cm

Solucién: h=1370228 cm, x=109274cm e y=259115cm.



29)

coszl:i:O’S
6

A =cos™(0°5) = arccos(0°5) = 60°

El 4ngulo AOB es de (2. 60°) 120°.

Pig. 160, 33 y 35
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